java.util.Scanner;

{

MAIN_MEMORY =
MAX_BYTE =
SIZE = 16;
[] node = [SIZE];

input;
slot,tag = -1;

valid = ;
[] memory = [MAIN_MEMORY];
[1 data = [SIZE];

args[1) {

me = TheCache(Q);
me.initializeCache(Q);
me.doIt();

(O

keyboard = Scanner(
.out.println(

input = keyboard.next();

(input.equalsIgnoreCase( ) {

.out.println(

value = C ) keyboard.nextShort(16);

readCvalue);
doItQ);

(input.equalsIgnoreCase('w")) {
.out.println(
address = keyboard.nextShort(16);
.out.println(
data = keyboard.nextShort(16);
writeCaddress, data);
doItQ);

(input.equalsIgnoreCase( N {

displayQ;
doItQ);

{

.out.println(




